
 0
 

 1
01

0 

 3
00

 

 1
31

0 

 5
19

0 
 5

04
0 

 6
05

0 
 6

20
0 

 0 

 1010 

 4810 

 4510 

 6240 

 7250 

 4660 

 2
02

5 

 1725 

FFH: 0.55m 
Area: 40.7m2

T1366 to T4205 and T4206 

2 No M16 x 170mm Hex Bolts 
2 No M16 Nylock Nuts 
4 No M16 Washers 
4 No 40mm Black Inserts 

T4207 to T4205 and T4268 

2 No M16 x 240mm Hex Bolts 
2 No M16 Nylock Nuts 
4 No M16 Washers 
4 No 40mm Black Inserts 

T0066 to T4206, T4208 and T4269 (2) 

4 No M16 x 240mm Hex Bolts 
4 No M16 Nylock Nuts 
8 No M16 Washers 
8 No 40mm Black Inserts 

Bridge Handrail Fixings 

4 No M16 x 130mm Hex Bolts 
4 No M16 Washers 
4 No 40mm Black Inserts 

Log Rope Fixings 

18 No M12 Nylock Nuts 
18 No M12 Washers 
18 No 33mm Black Inserts 

Wobbly Bridge + Rope Walk rope set Fixings 

8 No M12 Nylock Nuts 
8 No M12 Washers 
8 No 33mm Black Inserts 

Elevate

Surfacing Detail   

This equipment for play areas is manufactured following the codes & practice outlined in the British and European standards and in so doing meets 
the requirements of BSEN 1176 (general safety and test methods).

AMV Playgrounds | Unit D | Abbey Lane Enterprise Park | Abbey Lane, Burscough | Lancashire | L40 7SR - Tel: 01704 740233 | sales@amvplaygrounds.co.uk


